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237 1Y R 171" Tn
B Hoy "1 WA WA KLY AIH PRI 9D DY AR 10 2°170 1T R 17''72 'O
9P BB wan pAY KDY PR 2757 2aph RAW 3707 D19 T 12 WD U
1) xn»a
a) Nw™M
i) IRMIL WY PRAY NI 291 DI PNV RIS VAW I
i) Because the o175 will be xnvn the oo 129 anyway
2) om0 1w R 7"7n as explained by R"wn
a) Nwp
i) Even if all o°37> are &nv they can avoid being &nvn the 7wa of a 127p
i) Here’s how
(1) moemw is 212 77w> so the o735 can assign a Mnw 27 to do the mvonw
(2) a 715 can then be 9apn the o7 in a P without touching the “wa



QIan NNNILVA A" TNI XNLVIY XX A" TN

SH2Y 2017 QINNTY DRWS 1T WK KW 1T 1D N KRV PPOD RAVIW KON 772
STV DR PPoD2T 19 2272 PIRTY R0 Do "2 RN2X RRURT 1190 29RRY Nw
97 RIT RO23 RAUAT IR T2 VWS WY IN02 '0INT MaTH NN wnwn
N2V UM XU RN23 RUTTT 100 22995 w9 KAV XD 7970 WDR P20 nann
NPV 7 9" NN02 RITR MINT NNRIVA YD DIDT 9T D0 NAMK NIAT NINRIYA
INAVIN MR KAV RAVIZ P02 951 RN12T M7 KD D''RY 77102 21012 NAw 17710 9" ™

2'TY PMITY DR YBDY 20D

By 12 AR 1R 1D DIDY TILRY KDY DN IPO02 WITWS "2 MR NRMWR 772
RN D752 72007 N7 KDY T2 WD TR IR WA DR 1002 1T ynwnT
N RAVIT IR RDWTT IOION 19202 LIRS WP Y NP YR DI 2R
MDD 192057 TIMN LI {147 NNRIY Rl N %79 77TV 01992 1R 77TV DI
AR E ST
1) xnp»n
a) Rw™M
1) AR WY PRALY NW V931 021791 PNV PR PIw 077
b) w90
1) NP2 WY PRAY DWW D1 PNL 023701 PRIV 1790
2) X as understood by x7om 29

a) The xo°0 applies when the nxmw of the naw 95 is &nwn the 02170 and — were it not
for the exception for o5 1297 — the 172 would be n12 2»n for entering the 791y
while 7137 N2

3) moon at XnvIw KoK "7
a) Nwp

i) the 17 in the x9°0 is in essence based on the xmw of the 017> that’s the same
point of the xw™

4) R"waan at Xox "7
a) PN

i) It’s ynwn from the next mooin that Mmoo assumes that the "naw 23" in the
mwn is the 02000 used to be vmw the maaap

b) xwp

1) Say that the xn127 of the &5°0 is that nkmwa 1o P even where a 71 uses the
10 for nu nw and the 1700 isn’t Xnvn any 2100

c) 1IN



i) The 21 who does the mv nw in the 771y with a 1°30 that’s an 8?07 2R 1S also
717 NRMPIV2A X1 and also has a n12 arn

il) it’s no more w171 that
(1) a1 can be in the 71y for o 127p while M N w2
(2) than it is that a 37> can be in the 71y for nod 127 while 7137 nRMvA
iii) so we haven’t explained the Xn121 of the &5°0
5) mooin at A nkmva 7"7 as explained by X"wann at M nkmwva "7
a) Nwp

i) A arwho is vmw with a 150 that’s an n&mw7 28 can avoid n1o if the oo is
7919% and he does the v nw from outside the 771y — so that the o375 remain
71170 to do the rest of the g7y

i) And in fact a v 27 {and possibly also a 1w 1727} can do the nvnw even in
the 771y without a n12 21n if he holds the oo in yv °%5 "vws that aren’t Sapn
IRA
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nxXNNn 7y n¥xNn "MW Y 12D Xna - 'K P70 axnn 7y axnnT Xio
D'wl 120 A" TN

DDA QOMWIY QINMY TR 2TV TR DROWS PR A0 KA [2 Ty vy 07
BRI 15T 1D RIS 297 TR PIAT 257192 K27 770 9P R ORRR 'R 10 2ORRUY
T2 20WI RIN ORT 2OPY 2INTYT DY MIDTIV DWW 2TV IRANY 2ONPY RN
D2 7' RDIRT U122 PWRT2 P2 RV DINAY 9T 727 2w 2 PN
797 2""570 9% 3P MIDTINT 'Y 72T MIwa P2 PWRD2 P2 2T o ST TN
T TORY RO 2INRMY 1Y 727 M2 P2 PWRT2 P2 2WIT RAIPWR VTP 20
2OWIT MDTIVA RITTD 277 TTIRY PIAT TP 171921 PITTI0T 21D JMMRTS I oph
DI TR VTR PIAD R27T A" 102 [RI70] 299 179 9P RDT 770 RN KD 2R By
727 NIR2Y MWD PRWRT2 2T N20PT RUN 2INNYD MINOHRN DWW 2IRRY RN
SP'TY TRNST PRSI WA WS NI PIRND IRT RUN 017 007 7''nh X7

RI1 2R "D 7237 PR 2O 120 7I02BT MRS 2 "0 2%l "aep 7''7a 'on
RON2 RIOHD 93 2w w5 779591 .9'"Op 1D PWRDD WY KRR 7 RT TR b
P75 ROW 97 PIRDD WY RPW 772 ORT NIDTIVY DKM 2T UpaT N7 RIS 297
TR 7D {23PR Dont nwn 2T {90 DY R m1en} 1R KT MsTw{aT) awn
799 RIOIORRR 9''R 2NN PP UMY RITD 297 RIN2 RIWOHD PIWRN2 WY KO
RT793 w27 R7INOND 7199 930 KD 921 P70 ROW 77197 PR TP ROW 72 ORT mmMS
T MID2DT N7 RTIADAD 700 DARNAT WD 2 A MDD wRa 1YY P KRB wy
M52 IR NOD PP2Y PWRT MOD PAT 7T JATR NRNDAT IR 10D TRWPIW 2T W 12
SIW FODY WTTAY 1D M20 RAPIYR TMRP KDY P70 RUR WY PWRN2 DY 2RI 700

:?'"1Y7Y IR DY KON

1) First nnTpn

a) If 5xw> 21 are P the 1w bring 70mva Pwra oo and the Pr»v are Pl to
"W 1oD

b) If Sxw> 211 are Prnv then even the v bring axnIwa PWRI Noo
2) Second 7P
a) muvw of k"R together with mn»92 that mvwsa follow these muvw

PANTO JAXY PVIY 199 RYY PRIV 1990 | PRAY A3 70 780 'R XN°°72) 21 NYw
NWRI PV PRAYY 777702 PRI U 1982117 (X3991 Ra9D)
SIWH P R ARMI0A 217 PRAV P2 PNV P2

|
P77 ATYRT 77702 PWRIT PV PA0 | P2 IR DT RADDIRAPD | KNI RITD 277 Rap RIWOH 000
("wA 1Y) 7R P7AVT AT POW BYIND VIV PRAY P2 PAY 2
DYIAD PNTOIT WD PATI PRAY |




X927 A"YRT 77702 PWRIT PYW PNV
TRAYY 777702 °7AVT M7 POW 2173 PNTI
R 2170 JPRT 71727 D192 PWIW XN AT KD
DA 72y R 51 210 IR WK V7Y
VYD JIRT

2170 XY 1T RAPDI XA
0N XN

X379 277 RIN2 RIWH NOw
"\ RN™I)

3) Third 7P

a) The next table sets out how &K explain those mn»92 that apparently don’t

follow their muvw

b) Note that o>wa that are "722" are counted in the calculation of "217" while oowa
that are "mw-2" aren’t counted in the calculation of 211

TRADY NWRIT PV PG
WL P

MwA 1w WX o'Wl
72 PNV KR 217 19N
TOWM MIW3A 12 PWRIA
1WA PRAY

™31 '72 2
o1 M PN
W PRIV
fa)h\valepl ek tabiplsga)
Sy XN YIw
pRsgla)

RIWH91 275 "2 ’kN™M2
X179 277 XN2

77702 PWRIT PRI PN
R PRAVY 17170 12177

1OV PTT DANRT WS PR
>1W3 v7aY K7 2D

1WA 7210 PWRNA 2wl
121 W12 199 M
R3991 Xa9D w23 P
217017 2717 WK

0’57 ' 1R
0°o1 "M o
oW1 ORNY
Moy MM
YW 0
M

7% '3 XNMM2

77702 PWRIT PRI PG
DY VYD PNTIT AURT
X7 PRALY 77702 272Y7 N7
1OV PTT NANRT MWD PRI
1w >72Y XY 2170

1WA 720 PWRI2 W3
X390 NWRI2 197 M
277 XAP RIWOHH WK X39O
1277 23w LY T RIID
TRAY

0°907 72 121N
faki o} iyt Wabinhaicl
DOWI O°RAY
2L Mndhwn
7% YIY

NP RIW°97 3 RN™12
X170 277

4) R"wamn

a) TnTPa per ann waT in 2T Ny 0197

i) When x"wnnn refers to "33 297 7TR" X"wamn means s xn>1a that nowsa

follows the 7vsw of X375 297 X702 RV

ii) The correct o7 in X"w1n is "272 72 °p &97" and not "[X31775] 295 177 *pa ROT"

b) First xwp

i)  Why not explain '2 xn>12 for 21 and for 81775 297 X702 &7 as in the next
table — in the same way that 27 explains 'x Xn>12 with the exception that o>wa
are 1212 both for wx and “aw

0 PRI VW P
DR YW PRIV 17 72007
M WYRT 1 1w

72 WRI2 P2 720 DW
12 17170 1210 1971 "l
1W3 12 NWRI2

[aimibricRakiisi iyt
D°RNY 20T '
ML own
NIYY N/TY
27 PIw

R"WITAT ROWVIP

279 '2 RNM2 ROPIR?
X177 277 PRT RDRN
hish)

c) Possible y17°n to the first xowp

i) It’s not 12non that o°w1 should be 722 both for wx and »w

d) yynto the first xwp dismissed




1) There is a 7nR7 %7 in 7wK3 219 who in fact says that o°wi are 72172 both for
NwRI and s

i) And we’ll show later that 7971 P11 in his X17K 717 also held that o°wi were
722 both for nwxa and 1w

e) Second xwp of R"wamn
i)  Why not explain 'x &n>>12 for 27 as in the next table

12T PWRT PYW PR MW MW PWRI2 W | M R | Rept X" nowp
WY AT KD PRAVI 220 T PWRID PN AW | R 2N 797 275 '3 ’AMM2AY
2773 PRAY NS AT XI991 K99 1w P M hwn own
A% 2170 1177 WK PN ORNYY
PRAOY
f) yrn

i) No 7nx7 %n holds that o°w1 are mwn2a for wx and 722 for “1w
5) X3 in P70 Ndon at 120 A7
a) Tonn “prn needed a 93 "W Mo MWYL KR DR ROWAW 100"

b) The &7nx sets out the case that was involved and the nmyv that P made at first
and the correct v w that he realized later

PRID VIV PP KN TANWRNA PN W | 0207 72N PINT RIAR M7
WL AT PWRI2 TAPWRI PPN AW | 207 M P
01O PINIY 1277 w2 w1 ' RN
PRALV | MLwn MM

ML NPT

72 5P " ROWIP2 197N 12 PWRN2 P2 MY oWl SPIMT RIPON
1212 727 pn IWRNAT 12 PRAL 1217 19771 w2
WY PATI RYTY ARMILA 1WA PA MWK
772 WRI2 172 P AV
w3
6) mooin

a) First xowp
i) For a1 and X175 297 XN Rwh

i) Why didn’t the &3 follow the 7w w in the next table for the x°nx mi and
Xipon of “p1n — where

(1) owa are moTY but not Moy NMown

(2) "prn at first thought that o°w1 were 72172 both for w3 and »1w and in the
end realized that o>w1 were mwaa both for pwia and “aw

10



X371 277 XIN2 RIWH DWW 27 DWW 72 DRI IPIRD ROWp

NPV PRIPR RN T2 PWNRID PATAM DRI | PImw AT 'n "PIT RN T
mosY PITY DaAN RN T2 PWRID P2 PR WA | 2NBY amer '
PATOI PRV WIPMAT AW 2DV PRV AW NN TWRY
b NOTIY 7Y
MY
7797 RAPDI RA9DT 117 72 WRN2 72 MW 0w “PIIT RIPONA
72 WRI2 P2 197 WA
297 R2OR NMWRIDT R¥A TN RAPDY RADD w2

1MRYY 19977 2997 PP vy
'R KN*°7223 a3y 199
RIN2 70°WT ROK DaR yh
“PI YL K7 RI1D 277

DR PRI R? PRA0 DTTT
R

27 12 PR YD "1wa AR
RI72 277 X022 70w 172
'R XN*9220 P71 KD 2997
X7 RT3 277 X2 700

'3 RN*°1220 PRl

a) Second xwp
i) For X175 297 Xnp Xw°H

i) Why didn’t the X3 follow the v w in the next table for the x1°nx M7 and
Xipon of “pin

X172 277 Xnp RIW2 DUWY 790 PRI IapIRD XWp
RMPILD PRIPR KDY | P PWRIR Pa AWM ORI | PR At ' RIRT RIMR I
mODY P73 DA PwNRDa 72 PR P2 R Awa | 2NRL aMeT 'm
'R UMY RIVOR NabpT W 2UWYIR PRV A DR TWRY
VIYIMD MW RIS 27 TR 7Y
wWB PrTIT [=Rmhlyi k)
1772 M PRAY 1217 19 772 WRI2 172 MY oW PINT RIPON
YD IR YR 2P0 w3
*1W3 12 PWRI2 772 P

b) Third xwp

i) Refer back to the xn»°px of the x7mx on the xnx M7 and Xipon of “pin as
repeated in the first two lines of the next table

i) And
(1) Instead of saying that "p11 in the x3pon realized that o°w1 are mw both for
nwRI and 1w

(2) Why didn’t the x73 say that “prr in the xipon realized that o°w1 are f2172
for Pwxa but are mwA for »aw as in the third line of the table

11



2)

3)

TR PROV QWM P2PR KDY | 1WA A PWRIA A SDA WL | e omor 'Y X132 PPIAT RO T

TRMPL VI 072 'R 99325 1217 1WA 72 PWRNA PR PN '21 D°RnL °o7 X232 APIRT
wh PRT faglhyicl ML oWl
moTY Mown
N

T2 NWRIA PR PRAV 12N 19N | 1WA 12 NWRN2 P2 Mw oWl X320 PPINT RIPON

WYY WD NI XY IRMI0A
12 WRD2 772 1370 ROW PN

NWRI 2902 12 MM w2

w2

RPN N JANTD PI WY | SIWa NI PRWND2 T2 2wl m:m‘a nven ndvwnp
7217 "2 ban PR 2INRW 3217 PR PNV 1_M 1:’71 mo 'SP x:pm:’?
DI AT WY KDY PREY W PRBY
b
C) 10 to the third xwp

i) The x nx prefers a yy7°n that results in “pri having been v both for nos
nwx and for »1w nos

R"wAnn at 7aop "7

a)

b)

This y17°n of mpoin to the third xwp is also a y17°n to the first xowp of mooin for
X1na xaw°? of X170 21 (although it’s not a y1°n for 27)

since we’ve established that in the 19 of this x>*wp for X702 X1w°H of X175 21
there’d be a myv by “pri only on "1 nos

Twni of R"wann

a)

b)

d)

Xowp
i)  Why does the & na prefer to say that “pr was nyw for pwxa as well as for »1w
'aRbY

1) The x7nx assumes that "prr realized his myw before *1w 1od so it’s only on 110D
WK that there was a qwyn that was 172 Xow

Xwp
i) WX 27 says in P70 noon that "w nos? nTny ... 920 R v

i) Doesn’t this suggest that 172 Xw they were 717717 t0 2w nod

717N

i) Not necessarily

i) The words can mean that at first he had the mawnn to be 7m7 them to »xw nos

12



97T
NFINT TY? [An TNRX 'NY7wn 2" Th - A 270 axnn 7Y A¥NnT X210
2992 7107 ARY 11D RAUD IR 7T RO K27 PaR "0 prbwn 172 [R Ty 5 0T
N2 R2ANOAT J102 RIVIP ORMY FTRDD PIPTS 20 50y 10 1wy mRya 0t o0
PRT 2" 179 "207 "1 RA®D MART P''ND 7207 RIN KON OR 2''717 ORP 277 RDUNRN
97 KD 2O9RINR O AR 23 2''RY 10 'R PARRwRT XD ahY MRPY "D P e
SMART RITT R PRI 20X PRI IRV 1TRID 972V KD RADDI RADDT 7190 MWWy 1Y
TN PITAT 11927 2D K17 NRDYA INI 21207 KUK RIT RIVTH IRD P19 20X PR
SR RO 927721 RIAUD JRWTY 7 WY W PR Iph 9190 11077 292 o an
79 9739 IODM IIWD 2INMY DR P 12 2R DYDY MD0INT 12now 172 B 10 XwWwpT
YRR 1T 'R AR INPYY 7% 299 1™77 RO ORI NP NIDY MWV NN INBYS
79298 3292 PRT ORIZ 212 KON 70D NIYD 292977 2IRPYT RIITAT 1190 1M RDINT
tP'117Y 979 KD 1IN 12 'R PIRRLR KRR 30 MIYY PRT 1RR PR

1) mnTpa
a) We established in the prior m2°7 that if pRav 1217 all are axmwva 2pn
2) Xn»2
a) Rnp XN
i) "% oy e

(1) a3y Pww 92m RYY PR 1990 — the P bring manwa pwra noo and the
TR bring aRmY PRI 170D

b) amm "
i) "p1on 2 pR" and all are axmva 20pn
3) x) as explained by mooin
a) oRw
i) if thereisaxin

(1) who agrees with the x»np Xin that 135 PRIy 129 RY? Prw 1991 so that
the 1w are 777wV 2°9pn and the PR are IR 2297 and who also
agrees with 77 "1 that P17 11208 PR

(2) and as a result it follows that
(@) Pxnv can’t bring IRmvA MWK nod because then the M2z would be P1on
(b) and since the yxnwv aren’t a vVY*» they also can’t bring 1w oD
i) then what should be done
b) nawn by 29

1) We’re &Xnvn one of the v with a yw so that 1217 become pxnv and all are
IRMAIA 2P0 both for xnp xin and for i

13



C) K7W says in a case of nxnn 5y nxnn we send a person — Mo0IN says X2 means one
of the 23w — to a P 777 so that persons who remain are Xnw 1217 and all are
XMV 20PN

4) R"wan

a) Although x>w doesn’t say directly that his X77°» applies only for a x1n who agrees
with both the xnap Xin and 7770 "

b) It’s vawn from the 7%7n of the x7na that X1 refers to the same Xin as 21
5) mooin
a) Xwp to ROW

i) why not say instead that we send one of the "&%w to a 1?19 777 so that the
77w become 217 and bring 7w Pwra nos while the o*xnv become vy and
are 1n71to "1w nod

b) v n

i) X9w says at :ax 77 that "&nw> AP 777 PR" so that if a xnw is sent away he
would continue to be 2»r to bring a o5 3277 and the case would still count as
T30 DY aRnn
c) Nwp by "
i) X9W says xnv? apI7 777 PR only where the xnw while in 25w couldn’t have
brought a 127 on NWwRA rod anyway

i) But in our case of gma 5y nxnn were the xnv not to leave he could have
brought a axmva Nwra nod under the v w of the &np Xin that where Sy nxnn
78nn the 197 1S that 13YH PRy 19901 1RYY Puy 1990

6) X"wann
a) Nwp to the xwp of "

i) We’ve established that also for X2 the &°x10 deals with a xin who besides
agreeing with x»p Xin also says P12 112°% 1R and that as a result without the
T2 of 27 and the 77nn of X9 the PRav can bring neither wxa nos nor nos
w

b) v

i) P%m 728 PR isn’t based on 7 — it’s to avoid a X3 to the o*xinv who would be
different from the o>w and would be axiawa 209pn at the same time that
770 are 77702 200

ii) So 177 oxyain a case of mxmay axma the prnw in 2w would be axma 2pn
according to Xnp Xin

iii) And it follows that the &nv that we’re sending to 1177 717 would bring a j12p
if he remained in o>5w1° and °" correctly asked that there ought to be 777"
"amn for this xnv

7) Mmoo at PwIY PR PRAY 7"7 at oy a7

14



8)

a) nnIpn

i) See the prior 112>7 on the v w of X1na X, of X170 21 that nxnn Yy nxnn
counts as neither 211 nor v¥n with the result that pxnv bring neither PR ros
nor 1w noo

b) 1oxw

i)  Why doesn’t X172 27 suggest that we be &nv» one person who’s 1770 in order
that there be Pxnv 21

C) Tawn

i) Since for the X7n2 nvw of X175 27 the PRnv have no 2rn to bring Nwx oo or
"W 1oD it’s not 712non to be Xnwvn a person who’s M in order that o°xnw be
enabled to bring a 127p

Twnn of R"wann
a) Nwp
i) Then why does 21 here suggest that

(1) a xan who for xnn Sy n¥nn agrees with both &np Xin that 1xys P 1990
and with 77 "1 that p17°01 11208 PR

(2) can resolve the conflict by being xnw» a 2w with a yaw in order that there
be oxnv 217

b) v n

i) This is no ¥wp now that we’ve resolved that the rule of 77 "1 isn’t a 17 but
is only to avoid a °x1) to o°Xnwv and 171 9>y the Xnp Ran is correct that PRy
1MRY? PYy o there is a 2vn for the &nw to bring a oo 129p

il) and to permit o°xnv to be N2 975 XX it’s proper for a Mv person to be
made Xnv

15
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D129 1IRW N2 WIATA A1 IR TIT2 IIARRRWS RN n'RY N0 AT NN 772
SIS PRI VPR 1MIANR AR D12 RNT MTVT 190 PR 'Oy "o v Nab
SWRT ORTT RMAIT WNAIAT 97O RXIY NN 91 A" IID2T ORI 1192 INY2RY 21N TN

2T Y ANRATY AR NN
1) mooin

a) If a v is sent to AP 777 he’s 2N vIn and won’t be able to bring a 7x%m 1297
on the 15" day of 1071

2) R"wann
a) Nwp
i) A person who’s M0 and 1311 7972 can send his 730 1299 by a mow who
arrives owni 702 before 21w o1 and who then on 21 o1 brings the m3an 129p
for the nown
b) Possible y17°n

i) meanaap is xaL wpnk for which the P10 says "nkam mnw k" to teach that
a m>w can bring an &1 nw for a nown only if the nown is ona T2 on ar
2w and could then have brought the "»>x7 n?w himself

16
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WX 2" TN

RD 19970 299 PR 190 70TRT 12 BRI KDY "2 PWRN2 17''72 [2 7Y B 0T
ST7APT ROT ID PRY 72 D N7V ORD MKRPTD TINRDD PR whw xR B0y "o mn
7OD® 29NN RPWT PIMIT PNV 21T RIP I° 903 D'YT 1190 2R P LR B
2ON7 RNV WITH KD KA M1 2T OB PITY wPwa X957 DR 92T 1210 KDY 1w
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1) mnpa
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2) mooin
a) Nwp

i) we established in the first table for Sxvaw that where ar 12117 and n» *xiv are a
vIyn the N *Xnv bring Pwra noo in order that there be a PR nod that’s 1731M2

ii) then in the second table why doesn’t HRyaw say that n» >&nv bring nwia nod
because why should it matter that in the second table only a w5 are ar and
the rest are P10

3) X"wann
a) xwp to the xowp of mooin
i) In the first table

(1) there were no 111770 so that unless nn *xnw bring w1 nos nobody would
bring Pwx rod

(2) and this would be inconsistent with 17312 nosi nx HXw° 12 Wy because
"5 72y RD 1TV

ii) But in the case of v woown par wohw there’s a vivn of v who anyway
bring a w&n nos

b) y»n
i) moon asks that
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(1) Once the case of a1 1211 proves by "n>7ay >xn 17va2" that it must be that
based on 17vna there is a case where 1217 aren’t P70 Where nn sRnb 0wn
must bring nwx1 noo

(2) We ought to assume &7m17 that 1722 teaches that in all cases where 1217
aren’t PV that nn *Xnv v Must bring PR [oo

18



mT 7212 2" TN

190 12 MDD 3327 51O 52T MDA 11D A P2 AHDRTR 11297 12 AT Pt ' Ta
TR PIRT NINPT RAIIA TIND ORRT MWPaR AT T 90PN UL RNMMINTAT
SRR IORT MNP J12TR RO VARP NNININTA QN7 NRINT TR P2 AWK P2

H'"PY YA

TPV 2T YT J2977 TR 11997 11D 2P 2 A RAvl a0 Dwh N7 7w 7'Ra
IN 2P 292 A0 NN YA ROT DIWHT PAYRR TINR DRARRT 712 IOY0 w0 5oy "o
XN PIRT NIRRT MAnma X7 2RI WTUNNN 17INYE2 KPR RO A RDY 2R awa
25177 DIPDT INRT TR 0 ROWD ORMY NI W2 750 KAVI 2577 a8 wanT o'y
QN7 SINPTY POR MM RO 112977 DR FIRTNT P72 WIDR 700 MR vpa RYT avp
BOpH ARTD N1 D DR UINSY RaoyR STBRT W N1 TORNDD 21N KD

P

FPION2 W2 AR 1T 1D 2T NRMIVR KUK 'INK R RPT R''200 RN 7''N2
TOIRR IR AMWA 02 IRIN PIRTIT RUTTR TD ORR 7T 90 ' Bop "o D ban
IO ST 2YADT AT KDY RAVNIRTA MWDT 2P MWD PIYD IVR RIIIT KON

TP'TYTY J22071Y TT9IORD AT T 7T MORT ROT7 Manna bar rya

1) First nnipn
a) Regarding a noo 121p that became xnv

1) "aw" means that first the o7 was 711 and afterwards it became known that the
oD Was Rnv

i) "7ay>7 71" means that first it became known that the nos was &nv and
afterwards the o7 was pan

iii) "n2nn3%" means that first it became known that the nos was &»v and we now
permit the o7 to be pn

2) Second mnTpi
a) mwn
i) The y°x is nxan for Xnpwiw oo 1297 in a case of aw
b) xn»32
i) The y°x is nxn for xnaviw noo 1299 even in a case of 7
C) X
i) xwp
(1) The &n>>12is amo the mwn
3) "wn as explained by msoin

a) the mwn on xnviw noo 127p applies where the 7wa was &nwi as well as where the
07 was Rnvl

b) now

19



4)

5)

6)

7)

1) ¥ "% can’t be w2 qnvn that’s Xnv o it must be that even after yox "y the
w1 S 79°0K2 TOX

il) the mawn means only that

(1) in a case of aw the y>x is 7¥n in the sense that a person is 21r >7° Ry
o9 129 with the 1277 and doesn’t need to bring a "1 ros

(2) and that in a case of 71 the y°¥ isn’t f1¥n a person to be 327 2117 7 RYY
oo and the person does need to bring a *1w rnod

C) ToRW

i) But if the 7w3a remains x»v and is 7%°5X2 MoK how is the person 21 >7° Xy
nod 1277 in a case of aw

d) nawn
i) Must be that the mawn follows jn1 "1 who holds that x25v7 X2 0°109 n9°9R
mooIn
a) Partl
1) moon brings a "X to show that
(1) since the mwn says ¥ is nx7n for noo 1272 2vn only awa and not 19112

(2) it must be that Xn» &7 the y°x is X even 7122 and it’s 713277 that the %
isn’t 7122 nxn and that there is a 2vn to bring 1w nos

b) part 2
i) Xwpto "wn

(1) how can a 31277 7 result in bringing to the 771y a "w nos" that Rn»IRTA
is 171

R"wAnn at w7 poa "y

a) mooin could also have asked that based on the nv>w of >"wn the 73 could have
answered its X*wp on the 17°no between the 7awn and the kn>>12a by saying that

i) the mawn teaches the 11277 17 that yox is ¥ only awa

i) while the xn>>12 teaches the xn»=x7 17 that y°% is nxn also 712
Twnan of mooin
a) Second xwp to *"wA

i) It’s ynwn from a mwn and a X na at :ny 7 that if the o7 was 7122 pan there is
no 211 to bring a °1w nos even 112771

R"w7mn at 1y 7"R2
a) Xwp to the second xwp of Mm»don to "wn

1) the mwn and the & na at :nv 77 deal with a case where y°x "% isn’t necessary
because although the w2 is xnw the 2% is o»p and is v
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i) and we can say that
(1) unlike :ny 77

(2) the x°x10 here according to >"wn deals with where neither the awa nor the
2%n is o»°p and M and that’s why y°% "%°7 is needed and y°% "1¥°7 IS 132771
valid only xwa

b) x27°5 to the x°wp of X"w-nn to Mm»doIN
i) The x7na there says that 72nna% it’s 70X to be P31 the o7
i) Now
(1) If we’re correct that there there’s no need for y°x »1¥>7 because 2% is o*°p
(2) Why is it 72nna% 7oK to be pr the o7
C) y1nto the xo7vd
i) The fact remains that the aw2 is &»v and is 7%°282 70K

i) And even 101 ' who says &20vn X? 010 n°oK agrees that although a person is
N2 °7° XX Where there’s an 19°98 0K still we’re not 7%1n2% a7 P71 where
there can be no w2 n7°x

8) Twnn of mooin
a) v w of X"2°1 who disagrees with >"w"

i) The mwn here deals with where the o7 was &»wi but the qw2 wasn’t Xnv1 and
remained v

il) y°xis mxon even 71112 to be oo 129p 211 > X1 and not to need "1w oo
iii) The miwn teaches that

(1) Although in a case of xw the awa that is mnw is 79°o82 0

(2) Still in a case of 111 the qw2 is 79°5%2 MO by 13277 777
iv) Now

(1) ®n>7I8T72 since 72°9K is 1Mn it’s a mMwws that there’s no 21°n to bring nos
w

(2) And in order not to bring "> 11 into the 771y there is no 77°1a to bring oo
w

(@) even for 1327 who are 9m3 an 712 799K MOX
(b) and even for jn1 "7 1327 who say X22yn 0°105 N9°IR
9) X"wann
a) Xwp
i) The x7ma could have answered the 79°no from the 7awn to the xn»>92 this way
(1) The mawn that says there’s no "% for 7> means that 7%°0X is 1312777 MoK
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(2) The &n>»12 that says there is 1x* also for 71 means that no »w oo is
brought even 11217
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1) First nn7pn according to "oy " who holds 19125 i nepn

a) An awx who is 72°1 07 %17 at any time during the day or night of 'k o» isa nw
o1 7210 ar and is N9 a "R under which

i) if she has a second "x~ at any time during the 7%°% of '2 o1 and a third &
during the 17%°% of x ar

ii) she becomes a 7172 nar unless there is a M w in '2 01 as we’ll explain — in
which case the x3»n is "p°20" and the prior n1°*x1 no longer count

2) second nnTpi

a) Mmoo in the X210 here says that the &2 during the night of 'x ar is effective at any
time of the night — not only \n%nna

3) Third an7pi

a) There is a mm°w on "2 oy if there is a "&" pooi at the beginning of the xn»
(daytime) of 'a o1 or at the end of '2 av
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4)

5)

6)

7)

Fourth mn7pn

a) X"wonn at one point distinguishes between oy (24 hours) and &»»° (daytime) but at
other points X"w"rn uses o1 for both meanings and expects the reader to
understand himself which meaning is intended

b) The text of &"wnrn at the beginning of this m12>7 is marked to show where X"wA:n
intends o1 to mean xnn>

Fifth an7pn based on R"wAnn
a) 7oRw

i) Assume that an 7wx was x1aan °20 based on a " w at x»» nnn of '2 o1 and
was n?amw

i) What is the 177 if she has a "“xn afterwards at '2 21 710 so that there is no 2w
at'aor qo

b) nawn
i) Xnby 93 agree that the X1 pooi at X»n° nonn counts as a MW
ii) but there is this np12nm whose o°v19 aren’t relevant to the rest of this M2°7

(1) o1 "1 says xnLA X7 X272 7800 — we take no account of her prior n1*xA
and she begins a new n

(2) 1321 say

(@) A mw at xnne nonn of 'a oy that’s not followed by a 2w at 'a v Mo
is ignored y19m% and we do take her prior n»&a into account

(b) still after a 1w at X»»° nonn an qwx may be naw at mann vl without
having to wait to see if she’ll have a "X at 'a o1 mo that will be 019
her 77720

Sixth nn7pn based on mooin

a) Assume that an nwx has a "X at 712°%7 nnn of '2 o1 and then has no “x1 at o 70
'2 but has another &~ at 7%°%7 n%nn of '3 o

b) Neither the absence of a “x~ at x»»° norin of '2 o1 nor the absence of a &~ at 710
'2 01 counts as a MW because "191021 01’7 1PN ARV 0°2210R"

lah!
a) ToRw

i) What are examples of conditions where there is no = w and an 7w becomes
a T onar

b) m2wWn in 9°11 noon

i) "Pow awhw 9o nyowa"

i) "nnna Ny pwh TIN0 M1 RN ORI 1150 N1 K"
C) n2wn Inour X
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i) "nyowa"
i) "MWwnwn PRI 93 IR 130 n1 R
8) m»on here as explained by 5" mn

a) In =11 noon the words "mann Ny pw? 7m0 »1 XN2N" mean "nnana nYpw nRs"
namely at 7%°%7 nnn of each of 'k o and '2 or and '» or

b) aoxw

i) Since in this case there was a &1 at 72°277 nonn of '2 v and the next "X
wasn’t until 79°%77 nonn of '3 oy

i) Why isn’t it a m°w that there were no n1°& at &»»° nonn of '2 o and at 70
v

c) mawn

i) We’ve established in the mn7pn that "z oa2on" for all of 'a oy if there’s a
X7 at '2 o1 nonn and another X1 at ' o nonn

9) Twni of mooin

a) The & 73 in 7°11 noon isn’t P71 when it says that the &~ for the 7%°% of '3 o1 needs
to be at 7%°% nonn

b) Because an nwx becomes a 79173 nar if this “& is at any time during the 7%°% of
PYalL

10) ®"wonn
a) First xwp to the mx°a of moon by 2"wAan
i) If the X3 in 7°11 noon means that the &~ for '2 01> was at 'a oy n%nn

ii) It follows that for there not to be a 7w in 'a oy there needs to be a &1 at
19°% nonin of '3 o1 in order to be able to rely on the X120 of AR 0°22107

iii) and nm»oin should have realized that the &ama in 7°11 noon is P71 when it says
that the &2 of '3 oy needs to be at 7> nonn

b) Possible slight variation in the nuw of m»oin
i) The X3 in 7°11 noon by Ay pw 7m0 Means i1 M0 — not o nonn
i) And
(1) that’s why we already have a necessary "X at 21°7 710 on "2 oy without
relying on the X120 of 78w o°22107

(2) so it’s understandable why nm»on can hold that the &2 on the 7%°% of ' ar
need not be at 7%°% n%nn

C) Xo>7oto this nvw

i) Since for this nu*w there’s no "&7 on '2 ar until "2 o1° 7o the fact that there was
no X" at X»n° nnn of '2 o1 should count as a 1 m°w as we’ve established in
the mnTpn
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ii) nor is it 12non to say that axmw o°22107n from 'k 01° Mo until xan> nnn of 2 ar
d) {another x>7°o to this oW

1) It’s a muws that the &~ for '3 01° can’t be 01n 7102 because this X1 is effective
only 77°52}

e) Second x°wp to the &3 in 7°11 non as understood by "wAmn for nvoIN

i) since we’ve established that the "“&~ for 'k o1 can be at any time of the night or
day of 'k v

il) the X7m3 in 7°13 noon isn’t P1°72 when it says that the &~ for '& o1 must also be
7YPws 7o namely at 79°% norn as understood by 5"wann

f) Third x>wp to the X na in 7°11 noon as understood by %"wAa for mpoIn
1) Just as the first yy7°n of nyow is the same both in 2’1105 noon and 7°11 non

i) By saying nypw? 7m0 o°»° '3 in 7°11 noon it’s 1anon that the X7 there has the
same maM> as our X1na that says that an 7wk can become a 172173 721 by n1PR in
two mwnw: 12

11) x"wonn — a different fv>w in how mooin understands the xana in 9°11 noon
12) Part 1 of the nvw of X"wAnn

a) By "nypwh 7m0 oo 3" the Xna in 711 noon has the same 72113 as our & 73 when
our X3 says that an qwx can become a 79173 7121 by n1XA in two mwnaw: 1°2

b) namely

i) The first &1 is at the mwnwn 12 that overlaps the end of 'k o1 and the
beginning of 2 av

i) The second "xA is at the mwnwi 172 that overlaps the end of '2 o1 and the
beginning of 2 ar

c) So that an nwx who had n1°x1 on this pair of mw»wn 12 had n1xA in three
consecutive days and it’s these n1°X1 to which the X723 in 9°11 noon refers as 3"
R iialrlipd hialoRakia)

13) Part 2 of the v w of X"wonn

a) Just the same as it’s a muws that nyo1wa doesn’t mean nyow continuously for
three days because it’s certainly enough if nyow from the end of 'k o1 to the night
of 2 ar

b) So too it’s not surprising that the x7na there refers to ny pw> o o1 s even
though the n1xn for the three days occurred during only 2 sets of mwnwn 12

14) Part 3 of the mv w of X"wonn

a) Since there was a "X at '2 o1 n%nn and at 'a o 710 we rely on the X120 of o°220n
TXmIv2 to count as if there was a & throughout 'a oy including at &»»> n>nn when
there was no actual "&"

15) Part 4 of the mv*w of X"wonn
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a) This 721 explains why msoin here says that the X973 in =°13 noon wasn’t P>
when it said that the &2 of 'x o1 needs to be at 7°% nonn

b) Namely because we’ve established that

i) the X120 of xmw Pa2on applies where there are n1°&1 at both 2 o n%nn
and 2 oy a0

ii) and there’s no need for the “&2 of ' oy to be 7%°977 n%nn in order to rely on the
X720 of nxmw a0

16) Part 5 of the nvw of X"wAin
a) Xwp

i) Inthe end both the X913 here and the X373 in 911 noon assume that the &2 on
s oy was at 19°2 nonn since also for our x7na the second mwnwi 12 lasts only
until 5%°% n%nn of 2 ar

i) So why does mooin say only for the X723 in 2°11 noon that the X wasn’t p*>7n
when it said that the &~ for '3 o1 needs to be at 7%°% nonn

b) v n

i) We can explain that our x7n3 gives a case where the “x1 was at 72°2 nonn
because it’s only in this case that there can be a 77173 77ar with only two n1xA
at mwnwn 12 as we’ve explained

i1) But the X773 in 7°11 noon doesn’t use a case of two N1KA on two Mwn»w: "2 and
instead refers to three n1°X7 so it must be that the X773 there wasn’t p>>7n and
could have said that the third & can be at any time during the 7%°% of 'x o

17) Part 6 of the nvw of X"wAn
a) Nwp

i) We understand why the second &1 of 'a 01> needs to be at '2 o1 710 namely
because otherwise there’d be a 7v°w at 'a oy 710

i) But why must the first &2 of '2 o1 need to be at 7%°% n%nn
b) v

i) In order to be able to say "axmw 17220%" and to ignore a M»w at Xnn nnn of
23y

C) X279 to the Y10

i) It’s just as 1anon to be XMW 22101 starting at any time of the night as it is to
be nxmw 2207 from 79°% nonn
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5oy "1 20U KD NARANT AP MR 3129 1D 7PN N 0T MIDOAT 23 DY Ny 7''R2
DRPIVI IIDR NIV RADYMAY FIPIIT MR NI DAPANT 00 R''D NORT PRI W
DTN NRMIVD 7209 11987 TRIT O''R DR 20T 'R M aTIR 10 YT ar 2vInsT
20T 9% 27IP W YT PR KT MIMATT 00 M0 MR 797 215D D YT 1IN
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M NPYIT 2TIP Y0 PTI D'ARY PO 2T 9O 9207 ROT IR RDWTY P07 NN

1)

2)

3)

4)

'Y QIR NRMIVA N0 WORT 2T
\ulabs

a) the y>x is 7¥an on owinn nRmw for a 2011 even if 1N nRML was v to the °n
before np>ar of his niaqp

7awn in P11 noon as explained by jam '
a) nnoanis 2ovn for a 7°r1 according to 2ry°ox ' but not according to 132

b) That is why q1¥°9% "1 says y°x isn’t 7% to a o1 if o1na nkmw was 17 vy before
nnxn while 1327 disagree and say the y>x is 7x7n

"9 X IR POX nno»n 1IN DRI YT
1327 77377 DR YL

nvoIN
a) Nwp
i) nperis 20vn for a 711 both for 213°5% " and for 1121
i) So
(1) Both for 213°5% "1 and 71120

(2) Why does the 3 here conclude that y>x is nxan even if nxmw 1% y71
TP OTIP DN

b) v n

i) vxis nxn before np>a1 in our X310 because it deals with where the munw was
before oyinn niimw 12 vy and mwenw counts for this purpose as the beginning
of np>r

73N 7% A"N 20VAT aP°T | 21N DRMID YT o 1777 mawn
SIR VN N2

R"wAn
a) nIpn

i) Presumably 2r°%% " agrees that ¥ is ¥ for a 7011 even when °19% 1% y71
P

ii) nn%xn that’s 20vn for 1y°9x ' is done after ap>r
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iii) It follows that oyinn nxmw that was ¥ 711 before P71 was surely ¥y before
nnoan

b) xwp

i) So for 21y°oR) "y why is it that y>x is 7% for a 9°11 when 21307 IR is 17 v
before 1p>71 and nr73n

7397 PRI CWRN | MY X2y AN | n"n 20yAT apT | O30 DRMD Y7 Y | M2 1T mwn
[ YR DIR 70 NWw N2 YR
c) y™n

i) 1It’s correct that nn%3°n is X2oyn for 213°9) ' but to be nn%3°n o>7pn before P>
isn’t 20vn

ii) the x7m3x here deals with a case where 12 y7i after nnx°n and before P>

POXT R RN
%M

n'"n 20Yn7 AP
PIRW AL NW N2

NRMI L ¥
fahralah]

X7W nnoan
7777 710 1Aara

aonw

% 977 mwn
YR
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9XA27 9o 10 B W''R 2WYIR ROITT 1D RXWAT QN7 IR RAUTT 10 XX 772
12 TR 2RI NI 'R WY T AT ABIWIY M2 39 2R PITO N2AR IR 1M
WIS PRAWRT 25V ¥R RNI2TD %MD 1R RO KDY 10 D 'R awa baR N

9=y ANT ARTIY 10 N RTINAT A0 2OV AT NARP RP1THT
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2A9-:1N9 T
|911WY7 INA XNOnal Xnv) 2" TN

1APR ART KAV T2 9o "D D109 W 293y RI2AY 1IN XY 0 Rpwvl '
N7 KPPV IRD2 K257 71 RO 19 PRR 9% wah KRR 970 KD 1A%Y 92U 7799257 21057
15 15T A1 1277 PRAVI T OR K27 TRWIT IDAT 1APDT RADUD RPN 10 31U
URY FIRYT K17 AR I9ODRT RAPY P9 TIRNT AP0 D90 TR RO JARY YRYR 720

TRNTY IR TRRN PR IARY

RRVID PTRTS WY 1D IONPANT RV TN WMWY IN2 XM [R 7MY 25 7
A1 WP RAVI2 T9IDRY 2D 97D 9P 1027 O10% RIT RRPIRD RDIWT IRTI K210
1ANSW RAYY ONT PIIMINRIR TOW KRDT 1O a0 712 25 7 b7 RRPIRD KDY
5799 909 RDT 3790 a0 712 297 IR RBPIND R2ORT 9''9 1297 RAUI2 ND9INT

T mY RADY RNDNATD 1027 10D RPITT MARPY 'OINT w0 Ay

1) mwn

@) 12TV XYM 77727 2107 NN POMW 1210 N 2W 110D 127 K1l
2) X

a) 177°27°10% MR PO in order to be w>an these persons
3) mooin

a) Nwp

i) the no7yn *xy are wipn
b) v

i) 3%y 7ann 7"2 2% to permit them to use the o°xy in order not to be n°7wvn them
to bring a3y *xy to 77027 %15

4) Twnn of the mawn as explained by X"wAmn at 1w w2 "7
@) TAXY XYM IR IR PO IMIT WP RHL]

i) Because there’s no need to be w>»an them by requiring that they be °19% a7 w
man

i) And since they’re 17°m"xn2 97 there’s no Xnw to USe 1A%y XY SO 17 N°2 2
wasn’t 731n» to permit them to use n39vn "3y

5) Further qwnni of the mwn

a) 197y XY MITH 922w 17927 2107 T VI RALI AR PO 1IN
6) —Twnn of mooin

a) This is because unless 7 N2 2% is 171°%y 7inn they’d do no 9w altogether
7) Xn»2

a) 12 PYMIW PR 27YR XY TPMNEN2 1D N
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b) 177 PR PR XY XYM 77°27 2197 105 N2
8) X"wann at wMwo wan"7
a) 7oRw
i) In what case does the xn>12 deal

(1) It can’t be that 1211 Xnw1 since the mawn establishes that in that case we’re
w»an them to be 727 %195 9w

(2) It can be that anm v Rl because we’ve established that then n°a 25
77 isn’t 37°%¥ mann and it’s 710K to use 1own CXY

b) nawn
i) Must be that the xn>92 deals with 1°17°% in a case of amm W KALI
9) R — 02 of the xn»02
a) ToRw

i)  Why does the xn>1a say that 177 pymw px if they want to use 197 1axy *xy
7720

i) m2wn of Aoy 27
(1) 2 PRW 1 w2H ROV

i) m2wn of &2 as explained by "wn
(1) 7w oo,

(2) Because if they were to take 12y *xy they would properly bring back any
leftover o°xv to their homes

(3) But onlookers would assume that these persons chose to be 1w n 7w at
77°277 °19% in order to use 7o7yn °xy and to be anx any 107wk ¥y that
remained after the no™w

10) X"wnn at wnva "7

a) mooin could also have relied on the ayv of Ao 27 1% PRW » w25 ROV °75 — t0
explain why 127v7 >xy are used for 12171 Xnw1

b) But the oyv of X237 — 7w *19n — doesn’t apply for 1217 &nw1 because onlookers
realize that the persons who are 1217 X1 7w do So 77027 °10% because we’re
2> them to do so w»2> >7
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19" P JARDTD 10 779 IO RAN PIDNAT TV 07 AR STINYTIR PION KD INOR Ko7 RIT

9 ORI RIPORD H''OY 15 MW TIRT 1907 277 PIVD2 RIP AR NANI NN 7N
ROWP F59Wa (IR RT3 KXY RIPODH MRPT ORRY KON 2TV 750D R NI
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"Wa RT20MT 1190 T 77ITA VRN KD 12 191 SR 2P PV PIA0D ARPT XnBR

5Py IR MY

37



129 7
ana A" T NnIvoIn

9257 IND2T 919N T RO R RN201 PIDT PIYR "1 0 172 [2 Ty ap 0T
"DINT 12NDW ' NuwsY B Do "D 27217 2527 DA Y anonh TURN
IR'IITY TR RT MIAT DI0D2 JOWTY RN201T b

NNl 71ax n"T nIvoIn

B TREmY [9IRIT] KR 0T PRIR AR R RT7T TING "D Navl Ban 7''Ta
TR MINWT 2N PN ANMRAR WA R RO Doy " 1" i N'IRY T2 TAYNN
910D 177 92 Y977 TNDND ROOWT 957712 TP RO RDT WWORY MWWYM RIIN2 O IW0DT
DRPIV T N2 RN R AR 0NN WP IR YR AN PN RYT 27
1" RN MIRPY RDIRT 7' 0% ORImD oM KD PRI0D INWT 19 2OwTR
N29T NINAR ROTID 2 RDINT WORY 299 INIAT MR WYRN DI WP IRV

TP'TY R R b

1) X

a) 172 >7ma ’noYa that wp *700 are 79 wa even for oo%p oowTp
2) ""vn

a) Nwp

i)  We know that now is needed for o°>p o°wp nRiaw based on ¥3° Wk “wam
n9W° WX KnY 902

i) Why not derive other 7105 from xmw
b) v

i)  Without »°nx Xno%i1 we’d have said that nxmv is 2mn because it’s also 2019
Y 9N

3) mooin answers the xwp of >"wA with a different y17°n that’s not relevant here
4) R"wamn
a) Nwp to mooin
i) Why doesn’t moon use the 7%mn of »"wA
b) y1n
i) The yy°n of >"wn doesn’t avail for o7 °2100 that aren’t relevant to qwyn1 7170
5) Twnn of maoin
a) Nwp

i)  Why not derive by mm %p from 1m0 that’s 5p to wp *9105 that’s 2van that
since there’s a 7 of 79°7w for mm1n it’s a 1ow 95 that there’s a 7 of 797w for
wIp V00

6) X"wann
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d)

Xowp

i) We just established that o7 *109 don’t apply to 7m0

77N

i) In fact mooin asks its x*wp only for axmw and not for 1"2100 xw
Xowp

i) Why doesn’t mooin ask its xwp from *1w 2wyn that’s even more 9p than 210
because *aw wyn is 217 NN

i) {see 217 °p1°1 on whether &nwiw *1w wyn is nowa}
7N

i) Presumably nmnoin doesn’t ask this X°wp based on some x27°s that would apply
to a 1M 9p based on vaw wyn
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npM 2 pner " atT nivomn

DTS M MW 2P WA KD PUTVT AT VR DR "D KPR 32 0" T2
N7 YRR NIMT 127 3R RDT IAPD 2wN W 172 9D 117 Doy " 'unpa
TP ARTYT DT ROKR A PR WOAT SO0 MIMNT 1200 RIT YR j20pR ownnpd
B10D2 YD TAPR "OINT T N2 YR SININD TR M2 PT 20 WD KD IITYT
TN YR NRTYT ROT TOR RDPT X277 R''AWN PUINR 10 577X 2P Y2 RN201T 2T

TR'TY RIT 2O°9Y2 DIODT TN M2 YA RN20RT MIIN2

1) mnpa
a) M7 20 IS INPRY 19w and doesn’t require 7YX MY
b) mooin at x»%wa 7"7 on .2 77 establishes that

i) it’s a X720 that 07 9109 and o°%v2 5109 aren’t 7n7KR? 79 w31 and instead need
MR M2 before now

ii) Unless there’s a 7w that teaches that in fact 719>9w needs to be “n%x>
2) xp»3aat .o a7
a) °°%an >0 "M derives that nnxen nxwun that has a o7 9109 is InPX5 797 wa this way:
i) 777R was InoR? MW a W WD 1Y that’s a angen nXwn
ii) nwn complained to 17nx that "m0 8217 X% 17" and there was no o7 109

iii) This implies that had the o7 been nn°19 X217 then 17n% would have been correct
for being nox% 7w

3) “"wnat .o a7
a) %7 °01 "7 1120 disagree because "nywn M7 003 KL
4) mooin at 7% MR a7 0N A0 A7
a) °"w1 means that 1121 hold that
i) nyw5— at that time — nwn hadn’t yet been 7% that 771% M2°y *va

ii) Butmoain fact nwn was 77 that 7% 112°v *va and it’s this 79%7 that applies
mMTo

b) xwp of X"awn to *"wn
i) If 7wn hadn’t yet been 770
ii) the 17 should have been based on the &20 for o7 205 that 7718 2w *¥2
5) R at:2oA7

a) "nm ' derives from nnxon nRwn that o°%va 9100 are INPKR? oW because it’s
ynwn that if 177x had a 1238 1°7 that’s a 0°%y2 9109 it would be understandable why
the nXun was N8> 7w

b) The ov1o of this 7m°% aren’t relevant here
6) mooin at apIna 32 ame M Aty as explained by X"wAinn
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b)

Xowp
i) Maybe 1n>x? moaw because nwn hadn’t yet been 7117 that 77 1120y *va
710 similar to the x>wp that nmooin asked to *"w at 17% K 7"7 0N o7 7109

i) If 7wn hadn’t yet been 77 the 17 should have been based on the x120 for
0°%va od that 7718 MY *¥a
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A9 7T

q'oin N2 2" T NIDOIN

N299RY "D 797 2159 1397 112 NRVAT 9I0D "D N0 72 7''7a [N Ty AD 7]
TRRP P MRD P2 IPONT 010D 92 9117 ORTI KT 0oy "D nI0M KPR Pon VT
NIIRY 57792 MRT P07 0105 KON 790 N0 X277 WA 0" RPINT RUR 'O w0

$9'"™Y "2 bR KD 17207 120N

1) mwn

a)

If 2°5v2 of noo 127p were Wb or Nk — PN 12 1AM " says Tn A without 2w
X

2) X as explained by mooin and R"wann

a)

b)

hiziki!

i) Fornnw X 0°9v2 1nv1 it’s not 12non to be ponn between before np>ar and
after npor

i) And in fact 7p1n2 32 13m0 " says 7 A even if 0°%ya were wnava after nper
727 1S 70 to Jan M

i) that *%9x7°01° "1 in a Xn»12 also agrees with 7172 72 131> " that 791 77w even
if 2*5va were wnw1 after p>r

3) mooin as explained by x"wann

a)

b)

Xowp
i) 2937 °01 " in the xn»>12 deals only with a 9100 that happened before np>1
aRb

i) 127 by using the word n°01 teaches that he agrees with jam ' that there’s no
difference between 7p>r1 *19% and 73p°31 XY

ii) and that’s why he holds that *>°%3:7 °01° " would say there’s 7°n 19w even for
a 700 that happens after ip>r
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I 07 X 2" T nIvoIn

1D 92 KD TRY 1T 32200 WY "D NRUAR 9 b7 ey "o 3 WK '
2777 21057 207 9''97 R2WR RUIR PIWDT RIMDT 2D NMID0INT 12N 1 b By
'Ry 'Y T I DOYR T oI KUK R''PY 19132 910D N

1) mwnat.1oa7

a) If there was a 71371 2109 in a oo 129p the 17 is An7RY 797w and there’s no need for
X Y

2) nmooin at xnowa a7 on .o a7

a) it’s a X120 that o7 9109 and 292 9109 aren’t InYRY 79°w3a and instead need M2y
7% before now

b) Unless there’s a 7w that teaches that in fact 719>7w needs to be n%x>
3) xn™aat .o a7 as explained by the X
a) %31 °01 " holds that o777 9109 is InoR, 797 wa the same as 717 7109;
b) He derives his 7 this way:
i) 7R was In7x? 71w and didn’t eat @ w0 WX VYW
ii) nwn complained to 7nx that "nn1o X217 XY 17"

iii) This implies that had the o7 been ";2°19 217" then 17nx% would have been
correct for being 2nox? AW

4) mooin at 31 % MR At
a) now of "
i) °2°%37°01 7 120
(1) disagree with *°%377 >0 "

(2) and hold that o7 2105 doesn’t count the same as 7137 109 and don’t derive
from 777X nXwvn that 2777 9109 IS INPRY AW

ii) Because 1121 say that

(1) nwn was a7 that if a0 77 %237 then 17nx would have been right for not
eating the j29p

(2) but mwn was not 77 that 1738 would have been right for being 7w the
nxwvn at all ~whether an>x? or after 7% 12w

5) x7mxat .20 77 as first understood by X"aw in &n5wa 770
a) noRw

i) 29237001 " as explained by 71m ' says at .ao 7 that o7 109 has the same 1>7
as 71 709 and is InHRY 97w

i) From where does *2°%377 *0v " derive this 17
b) nmawn
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1) From anxen nxwn as set out in the xn»12
6) x7mxat .29 "7 as understood in the Rapen by X"2awA in xnHwa 7™n
a) 7oRw

i) 7127 disagree with *2°%x77 °0v "1 at a0 77 and say that o7 2100 requires 771 MY
and isn’t M7 71095 that’s INPRY 7w

i) Now
(1) 1327 hold that it’s a X720 that if o777 2109 is 79> wa the 79w requires M2y
7y
(2) But from where do they derive that for o717 105 there is a 797w 17 at all
b) nawn
1) From nnxen nxon
7) Twna of moown at 17377 R 5"7 at a0 A7
a) Nwp the mvw of the x1pon of R"awA

i) Mmoo at 37 377 MR 7"7 established earlier that *2°%3:7 *01° "37 1327 do not derive
from 177R nXvn that 79> is proper at all

8) X"wann
a) Note that

i) for the xnx mi7 of X"awn the X°x10 at .29 77 deals with *7°%37 *01 " and has
nothing to do with %°%37 °0v "7 1120

if) and for this nvw the x*wp of Mm»doIn at .30 77 doesn’t apply
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AwOl 12 AT NnIvoIn

ORI D'OY "D RITMY RNAIA 'Y 1R IAPD JIAKRTD PPDY RRR "D wna a2 ''Ta
BIDDY AN TRWIIT 00 RO IO KD "D 2OWTR 70D 2R IAPY N2T IMMRT RAYY
N7 Y 2" RO RTDUT ROT "OINT 12N RAPY ORT 170N 2OWTR 70D 102 MY

1)

2)

3)

4)

5)

2117 RN 9T DY IRIRITY RADA RAOWT NRIPAR 7R DY IR0 PR 00T

Xn™32at ;719 7
a) mMnY RO 112WH MORY *10 NINMPAW M OV 1INl PR
X3
a) Nwp

i)  Why not bring a xnan1 to burn a hole in the n°>p to remove the mn»
b) v n

i) "

(1) we’re wwn that the xn112 may make the bone crack and break and this
counts as 7772w that’s MoX

i) X327
(1) we’re wwin that the xnam1x might burn the mn and cause owp 7097
Xn»12 here
a) oxy n7°aw is Mok even after a nod 127 becomes

b) And it’s because there can be no 17°2w and no way to remove the mn» even after
711 7109 that a1 mngy need to be aawa in order for the min inside them to be awa

mooIn
a) Nwp

i)  Why not remove the m» without axy n3°aw by using a Xnan
b) First y1°n

1) The same as the y11°n of »ax earlier
c) Second y1n

1) It’s a &m7°w to require a person to use Xnam
X"wann
a) Nwp

i) why not also use the y17°n of ®21 that we’re wwn for o*w7p 7057 that the
Xnam1x might burn the mn

b) y»n

i) This y17°n doesn’t apply once the min is already “nmi and must be burned
anyway so that there’s no 2>w7p 7057
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c) wwp

i) at:1077why doesn’t the X3 say that an1 1R because it’s a &rv to rely on
XN7113 to remove the mn
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129 =29 7T
D'UTR NInXY 2" T "Wl XD RN NN win'y 170 ' Xna

WA IR KON PTPTY WY 11D ONMANR 2OWTR NIAXY KT RNDHA N1 2 70 ORY A
IND N RWIN ORT D' B 12D 10920 ORRR 0D NIAZY RIT RN IRD 01
DIPIR PRI WD NP TP TT 1190 112w R'IRT ''N0 DR NI RAPINKD RNDR
KD 1POT7YWA R 21D MWD 1910 RAPINGY RYT RNDR AN WIMWT KA
WM PRI 2TIP PRDY TR HIPT IDWH WV MR 2OWTPAT NARPY NN Ty
TV PWOY 1AW D210 RDT 1190 75U PIYY 2''YT nOD MnEYa O'RWH 19w A0
RD 197U 2"'702 2WRTRAT D197 DY YL NI R BT M PRIy NN

1H'"PY 792w B2137 1190 IR DI PPV PR INTIT 2I1NRD TIVIONR KD 01w

RN AT KD PRI NN ONT "D 2WTP NIARY 7'72 "D [2 Ty D 0T
N7 97°%% 79 NOK BUT POOR PO PR INANR TP TINRDY 0oy 12 9N 991D N
TN TP 2TIP TOOND WTIIIOAT RANTA 217 KWK NI WIPILT WTONON
2027 9''07 2Py M7 R2WKR A''7722 RNN2 T RAPIND »aT B 7w ovan 'Ry
oA KDY MR POO INT 2OXD INIRA RNWTT 1702 MNDN NI RN NN T
SINPTH TO2T 279 179 PRWRT WK POOM DI W2 112971 PRI N v
R 25722 179 93 TR M WY MR AR 9PN 7T 2Py 0 NRT ahpn ek
"DINT WD RMDINR 2TIP PN 0PN T R DRT R0 PRWIT 1910 IRNRA 79 P
1R'TY Do
1) First nnipn
a) The x2x deals with whether o1 X0 ni winow

0K R 19X M IMNRT IR
77w

O°R R 19K M2 ININPRT RD
7w

172 JAXY NAMA 172 75°WA 12N
o911 2% RDT 172w mMn nann
7w 7 Y mab

QW) 13V NAMH 79MWA 10N
ANRY 19K AR (N2 W N2
mnb vm 1

XN2°n M1 wnw

172w MR AN A9°Wwa PN
777w 7 By mnk P vxn KT

TR QN A%V Dnnn 99w 1K
W "IAT 10V M2 Dann 09°7wa

XN2°1 XD 1M1 WY

772w 7 Y mnk vIone

2) Second 7P
a) Nvaw "M
i) There is no 77 2w Mok for oo 129 MMEY once a 127p is 1M
b) 2py '
i) There’s an 72w MoK for nos 1297 Mngy even after the 129p is an
3) xn™32
a) XM

i) ow7p Mnxy that have mn don’t need 119° W because there’s no 77°2w Mo°X and
a person can be y?n the mn by being 121w the ninxy
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4)

5)

6)

7)

b) w90
i) nod nwaxy need 19w if they have mn because "7%pni *1on"
7!
a) 1°pna v1on means because of the Mook to be nwaxy V2w
Rapfab}
a) Nwp to the xwn of the xn>>1a
i) If X7 XN M wnw then oowTp Mnyy were 1N w»w and need now
X"wamn at JnyT ’poo oK "7
a) First xwp

i) Maybe the xn»92 in fact holds that x°57 Xn%°» an11 w2 w and deals with where
the 1297 isn’t yet °nm

(1) for o>w7p it’s possible before the 72 becomes a1 to be 12w the mngy to
remove the mn so there’ll never be M1 v w

(2) while oo nnxy need now because there will eventually be 2 wnw
because of the naw Mook that applies xnby *915% before the 127 becomes
M

b) v n
i) This 7% would state no w7 for oowp
c) second xwp

i)  Why does the & na say that the xn>12 can be understood if W% an wwnw
X7 RN°N

i) when if so why must there be f5>9w for nos nwaxy for pwnw " who says there’s
no maw MoeR after AR

d) yrn

1) The xn>>12 might be following the v w of 2py> 'y who says there’s an M10°X to
be 12w the mnxy even after amnx

Twni of the X max
a) v1nof pny 12 nm an

i) The xn>>12 holds that x> xn%» am1 wyaw and agrees with nynw ' that after a
10D 127p IS IMnea there is NO 772w MOKR

i) The mnxy were found 712w with the min already y1on
iii) now
(1) oowp mnxy are 112WH N even before they’re N1 S0 we assume that
%51 before they became ani1 so there never was 0 vnw
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(2) noo mnxy are XY *210% MR to be 12w before a1 so we presume that
112w after 179nna when 7772w is i for wnaw " so there was i winw
and that’s why there’s a 79w 211

8) mooIn at ¥EoT XNOR N7 MR AT
a) Nwp

i) The xn>>12 says that 19> is necessary because 72pn? 1w n - we’re wwin that
otherwise a person would be mngy 121w

i) How does this fit for prx> 92 113 27 who says the nmingy were already paw
and Px1on

b) The yy1°n of mooin isn’t relevant to this X"wAmn
9) +Twnn of the xna
a) yrnof Taran

i) The xn>>12 holds that x°7 xn%» 2m1 ww and can agree with 2py> " as well as
with Pynw '

ii) The nmxy were found in 2*112°% and some were Maw with the mn already y1on
iii) now
(1) ow7p mnxy are 112wH 1M S0 we assume that all the minyy were 2w and

121 before they became an11 so there was never an wn*w and there’s no
need to be pma the rest of the minyy

(2) noo ninxy are 815y *210% Mok — both for nwnaw ' as well as for 2py° ' —to
be 72w before they become ~n and it follows that there might be nyaxy
that weren’t 12w1 because of the m0°Kk and M1 Ww» W so it’s necessary to
be pma all the mnxy and to be 77w those that weren’t Q2w

10)°"wn
a) noRw
i) What’s the 77p1 of the np12mia between prixs 92 yam1 27 and 7221 2
b) nawn
i) Part1—adeeper 12 of the nvw of prx® 12 MM 2
(1) prx> 12 3mma 21 says for mnxy of noo 127p that are found pxYom 12w that
(@) Since noo naxy are 815y *210% Mok to be 12w before an

(b) We’re poion that 112w after 1nmin1 when 7702w is ann for pynw ™ so
there was n11 w°w and that’s why poon there’s a 719w 211

i) Part2

(1) 721 21 says that the m0°r of °m1 W w isn’t SO 77an to require 79w in a
case of Px12m PMaw where there’s only a Poo that 7¥°>m 7772w happened
after »amn
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(2) And that’s why 721 21 prefers to require only 777°72 and to be =0 only
those that a person is P72 and finds that they aren’t 112w now after anmn:
and for whom it’s *X71 that there was 01 v w

11) R"wann
a) Nwp to"wn

i) pr¥e 92 71 21 explained that we assume that 7922w happened after 1anin°a not
because of a X217 but because after 1nina for Nwnaw " it’s AN to be oxy 2w
while before 17mn1 it’s 70x to be oxy (2w

b) New nvw to be aw»n the noxw of *"wn

i) 7ar 21 prefers that the xn»92 deal with a case where it can agree with 2py> '3
as well as with pynw "

i) We’ve established that in the 7% of 7°ar 27 the Xn»92 can agree with 2py° " as
well as with Pynw "

iii) But in the 9vx of prix> 92 yam1 27 the Xn»92 can’t agree with 2py° '
(1) Here’s why

(@) for apy> "1 in the 7y of pr¥> 12 ymma 21 there’s a 50-50 P50 on whether
772w happened before 1mnmn1 when 7772w was Mok and there was no
T wnew or after 1anIn1 when 2w is also mox and where there was
mia)hilvvatallin

(b) and to 7°ar 21 it’s not 1anon to require 79w because of a poo of ww
an given that X°57 Xn% 7 M1 www is only a 11277 17

12) qwnn of X"wan
a) A T21n other than >"wA on why 721 21 disagrees with prx» 92 yam1 20

i) 7ar 21 prefers that the xn»2 follow the mv>w of 2py> 'Y who says the Mok
777w applies to ey also now when the n%xw comes before us after »anina

ii) because

(1) for 2py° "1 the words "%pni »1on" in the &n*>92 continue to apply in their
regular mynwn that there’s an 77°2w Mo°} now after »anina

(2) While m»soin at mr 7"7 has already asked that for 1wnw " the words
can’t mean that there’s an 7772w M0°RX NOW
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Nn7v2a nnX 'X 2" Tn

BB22 57T XD 921 D" D oY "D AP RITOW R 28 W2 IRDT "D 2"RR 7''72 'on
W2 IRDT INIT TR PITT 20T RNDR RITIA SIOWD TIDIND 70 2OWM PROINAT NN
TP'ITY RIOT IR RIT RTIAT AN M2 IRDT 3977 9P1NDY XD 71N

1) X7 as explained by
@) 27 MR T 27 — N1 W IRD NI T
2) ""wvn
a) And as a result "yn2I7 >7° 372 KX QTR PRI IOV Paa1 K"
3) mwn
a) T"V2DW I DTN
4) xmx
a) Nwp to 27 MR AT 20

i) If the 7awn by o>7° means w2 >7°3 then 171°%5°1 and if they weren’t eaten then
they’re the same as "nmi and the 7awn shouldn’t have listed them separately

i) So it must be that by o>7°3 the 7awn means X% >7°3
iii) Now
(1) If axx >3 count as “wa we accept why 9w
(2) But if they don’t count as "wa why are they n9 w2
5) mooin as explained by x"wann
a) Nwp
i)  Why does the & nx accept that ax1x >7°) count as w2

i) Ask the same xwp that the X3 asked when it considered that the 7w might
mean w2 >3

(1) If they count as w2 then 112095

(2) and if they weren’t eaten then they’re the same as 9m1 and the miwn
shouldn’t list them separately

b) v n

i) The & nx considered that =wa >7°x might be 713 2wa that has a “wa avw and
that’s why it asked ¥12°92°%

i) The & nx never considered that a8z >7°x might be 773 w3 and that’s why it’s
not a x°wp that 171°93°°

iii) The & nx considers only that “x1¢ >73 might have a “wa 57 as concerns 79w
6) X"wann
a) Partl
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i) The y17°n of mooin also explains why the mawn lists axix 73 separately from
an

i) Namely because the 15w of 2&X >7°3 isn’t based on the 71 7 as applied to
pila>Saii7i|

b) Part 2
i) Xwp
(1) Why don’t we explain the X of 27 K 773 21 the same way
(a) 2z 73 count as “wa as regards the 17 of 79w but aren’t 713 w2
i) yrn

(1) The nawn doesn’t say directly that 173 are different from 2w2 and that’s
why it’s possible that the 7wn holds that they have a 17 of 79°7w and still
lists them separately because 17°3 have no “wa avw

(2) But 21 mx ami 20
(@) goes beyond the mawn and says X>772 IRIX 73 aren’t W32

(b) And 27 & 777° 21 wouldn’t have stressed this 7997 unless TXx 73
and awa have different m>%:
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T2 RN 3772 03T OR TN IRDT NP IR DD pDIvR K120 MRp w''y bw
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.T9 7
"Oxnn 'NiIn "N

W2 AW MY RO PSIN0TY 29510 MWRIT 10 HaRNMY PIRIT 7''72 [N 7Y 78 07
STRPN RDT A1 2WONY 997721 B''oY 11D DY RN1AT RITT 1D 9B MDY 2v7IxaR N
251D MWRTMA W'HY WA T RY W DAY PR wRY MY 2 7T ORRD '
bR R Y DY RPOWA BITHT M2 BORNNAT 190 W2 7NIT INR2 SINPT PO
92 TTT MM D TBRONR T KD DHRT RPRRA DITAT M2 DORNM N1 BAy
MVRIT RO NIDOINT W'D AWDY RDINT RIR RPDR2 DITAT W2 DIDRNAT 2ITIAR
B T9DT B TER 'R T DAY DR PR ANT W2 2w 1R O POMST 23010
TPT32 DY RMI2Y 0D D'HRT KD TR BAR PR OIT P00 29510 WK AN
7998 N7 DT 777 DAY WK W2 9DV N2 NINT 1w 90 wpn 'ownn w'tns

IP'TY PIYTR 2R 20 POINDTY 2901 WRN 10 D' Twa aw

1) xnp»n
a) D°0IOM QD13 MWK I 1Y 292X 71T TR DIRY RPHW D17A7 WA DRI 9D
2) X as explained by mooin
a) NMWwpnao Pww P
1)  RNW7 N2 1217 7092 100y 02103 AR 1AM
i) JP2TR 702 N27 70D TOY PIA1 PR MR WOPH WM
b) xwp of wph woto e "
i) POWOM 09912 WK 177 ORM ... RPIW 21737 W1 DRI 9 °Inp N
i) X7 MWwpna® 10w 173 PaR PR O
c) yenof 1ame ' as explained by m»oin
i) We go &nwi1 7n2 for everything that’s Xp?w2 21737 w2 oK1

i) And mwpnab 190w PTA are XpHWA 217a7 w1 *2axnn the same as 2°o10 "wRA
10O

3) mooin
a) Nowp to woph w
i) The &n*92 supports 1M "
b) y»n

i) wp? w> holds that the test of xpowa 91737 w2 *2oxnn results in going Tn2
xnw: only for pPonom o015 *wi1 that have 701 qwa aw than mwpna® ww P73

i) And w>p% w1 asks that for 1am1° " the mawn should have taught the greater
Xn21 that because Xp?wa 71737 w2 *2a8N1 We go Xnwi1 ana even for i
mwpna 190w that don’t have “ny qwa aw

4) Twni of the xm

54



a) 1m "y was later "2 977 and was 77 to woph won that we go 7102 7na even if
RpPOW2 977 w32 vHoRNnA

i) for mwpni? 0w 12702 for nosa 2117 7 NRY>

ii) And for 777 93y Sw wxn W for nona 2 7 nrow as well as for axnw in a case
that’s not relevant here

5) X"wann
a) Xwptounm ™

i) Then why does the xn>92 hold that for ow0m 0°510 *wWRY we go Xnw: Tna
because Xp?wa 21737 W2 1°7oK1

b) v n
i) Similar to the y11°n on which mooin relied to explain the ww of wph v
il) 7amv ' after he was "2 9771 holds that

(1) it’s only for 201> qwa ow that we go knwi an2a for what’s 21737 w21 7oK1
Xpwa

(2) and only Poom o015 *wiA have any w2 aw
6) ""vn

a) wph w1 himself goes xnwi ana for 777 2w Hw wxn My both for nxmw and for
oo 127p

7) XR"wan
a) Nwp

i) The xwp that wp> w1 asked to a7 " before a1 " was 2 977 now applies
to wop? w1 himself

i) Namely

(1) Since we’ve decided that 777 23y %@ 7w has less qwa ow than 0°515 *wK"
D°0IOMm

(2) it would have been a greater xm27 for the xn»92 to teach that there can be
1713 for moo on 7777 2av 5w wrna v than to teach its 127 for 2091 "wxA
0°0170M
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.19 Q7T
17 an' A" TN Y'Y 1ax 2" TN

"D ST9ION T2R DY WD U 29T INMR RN 1D RIW 72K 17''72 [2 Ty 72 07
N2OR HODI1Y W7 NP YD SN0 7O BB A0 1N KD ORPR R1pTY KD 0oy
23 R MWD IND 779K TN MIRY IPWAT 7TOOOR 27 DY MWD N7 IRNN A2
"BY "2 W7 NP YD INTT IR 1D RO MART RITIR SR NIDOINT IR AP
9''S UMD WORT 1AL I PIRITY PIVT 21 MWD NTINM PODITA TIIORR P
S"pan WS N7 DY RINIT ORTY V"'Yan Ry NTawa Dar 79IORD MIRNR WD N
N277 7oD2 IpD 397 RIORD MIRTR MWD DV TT RO IR K12 I9Y A9IDRD NIRR

TP'TY DR MDY IT9IORD NN MTT RO NI

12 DR 7R RIT WS IRY WD 7MY "2 Wb s XY " Y s A '
5277 2127 2R SIRPIVI K27 IODT RNRPIN 7 M7 oY 2 RAT YR B''op "0 AN
799 SWPN 1T ROTIA DD INRP 7T0AWT RINT MMDUKRY RIN2 RINT 1T NRP O9IPRD
K2 SNRP 9IPRY M7 DY 27 MRPT MDD RDINT 2WTH 2O RN 'Y RIT WD
PRI RIPIWR 77 INBW 20527 2''77 KIR NRP RINT MDVY XN NINT 20N
RN NYR W 7T RDN 39D KDY 2D NT0Awa KRR RPIPD 01 INTY 220 W0 nyw
2N5W RTI INIR 95T ORI MM PMITY KW A9OKR 27 PR {Aws) oD IRy

TP ROPOPRA BIDD T RIT DIOD RIIT KON ONRP IPKRY M7 K7 w1 A"D "o

1) xn»n2
a) Nnp XN
i) the mo°x of 0¥y 772w applies to what’s 7w — it doesn’t apply to what’s 9109
b) -an
i) the mo°r of 0¥y n7°2w doesn’t apply to what’s 72738 "X 1K
2) X
a) Nwp
i) presumably what’s 79°9X? "8 1I°X i also 7109
i) where do &»p xin and »21 differ
3) yrenof n
a) they differ in nxmL2 X277 110D
i) for the xnp xin
(1) the 127p counts as 2105 because 8 was Maxa an7 but it wasn’t 7303
(2) so there is no MoK of ¥y n"aw
i) for -1
(1) the 1a7p is 792282
(2) so there is an mo°x of axy N aw
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4) noran

a) disagrees with “»7° '3 because °nxX Xp “21pPR °27 50 it must be that 21 holds that for
TRMIY2 827 oo there’s no MoK of axy naw

b) instead the &»np RXin and °a1 disagree where the noo at first had a 2w nyw and the
00 — for example the 2100 of xmw — occurred later

c) now
1) According to our X0

(1) For xnp xin the oo counts as essentially aw> and there is an Mo°x of
o¥y 7AW

(2) for »21 the noo isn’t 7%°5K? X1 Now so there is no Mo’k of oxy nvaw
ii) According to the xo73 of o190 w° that Moo mentions in 12 ann "7
(1) For xnp xan the nos is 7109 now and there is no Mo°r of axy naw

(2) for »2n the oo is considered essentially 7%°5x% %1 and there is an Mo°x of
oxy N7aw

5) X"wamn at 130073 000 "7
a) Nwp to the xo7a of oo w»

i) We’ve established that no1 21 disagrees with “»7> "1 because &p *21pK? 27"
"R

i) But according to the o7 of o790 @~ it turns out even for 7o 21 that "21 is
2 mnn and says there’s an Mok of axy naw while X»p Rin says there’s no
oK of oxy N aw

b) two ox1°n
1) First y37°n - R"wAin concedes this is a pm7

(1) When o1 27 says *nx Xp *21PR? °27 he doesn’t mean that 27 must be Hp
relative to the xnp Rin

(2) Instead nqo» 21 means only that the specific case of nxmwa Xan nos where
there was no “w1377 nyw shouldn’t count as 79°9x? X1 for *27 and a1
should agree with xnp Xin that there is no mo°r of oxy naw

i) second y17°n

(1) This yrnis similar to the first yv2°n but adds that 2»90 @ aren’t 071 27"
"SnR Rp "7PRY as the reason why no1° 21 disagrees with "»n7 '

(2) Instead noy» 21 disagrees simply because he holds that where there was no
W NYW it’s a muws that 27 would say the 1277 isn’t 79°28% "X S0 that
for a7 as well as for x»p Xin there is no Mo>x of oxy nvaw

6) —Twni of the xn3 and mn» IR not mentioned earlier
a) nw of »ax
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7)

8)

b)

d)

1) Xnp Rin and 21 disagree on oy Tyan XY N°Aw
(1) For xnp xan the nos is aw> so there is an Mok of oxy n7°aw even oy Twan

(2) For »2n the nos isn’t yet 79°9K? »X1 S0 v 7Wwan there is no Mo°x of n7aw
oy

mw of Xoo 21

i) Xnp xin and "2 disagree where an 2k of the noo 129p was 1nxpn &> from
0°%w and there’s a 211 to be 7 the nxpn that was Xy

(1) For xnp xan the nos counts as essentially aw> so there is an 1o°x of naw
oxy

(2) For »21 the noo doesn’t count as 719°5X X1 because the 771°2w o isn’t
7770K7 MK

mow of »7°R 297 M2 nww 21
1) Xnp and "27 disagree where the 3297 is X3
(1) For xnp xan the nos is in fact “w>
(2) for »2n the moo isn’t 770K "X until it’s 7%
mow of prix> 12 yam1 20
i) Xnp and "2 disagree on “Hx7 n7aw

RXW 72X 7"7N

a)

Xowp
i) For oo 21
(1) The fact is that the outside of the 1ax that isn’t 79°9%% *1%1 is also not w2
(2) So why does the 22ax count as " w>" more than it counts as 77°98% X

R"wAnn at R¥°Ww 2R 0"

a)

b)

Rowp

i) Why didn’t m»oin ask the same x*wp to 7o 27 - namely why is it that after
the w1271 nyw the 127 counts as aw> more than it counts as 79798 "1X7

i) And in fact m»own below at qw137 nyw 12 a0 2" "7 compares the case of °a1
7o where w127 nvw 17 1037 to the case of X995 21 where 1nxpn X¥ow 1ax and
says for both that it’s just as likely to say that the j29p isn’t "w> as it is to say
that the 129p isn’t 77°0K% "X

But

i) for the mnn>px of or Myan oxy n7vaw and K1 and "X it’s in fact 1anon that the
1297 counts as aw> more than it counts as 77°287 "X

i) And for the xn»° X of n7° " on AxMIVA X277 7OD it’s 72ano» that the 127 counts
as 172°oK? "X1 more than it counts as “w>
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PRT R2ODIR 290727 KT 10 939070 MR 277 R19297 RNADDY 10 2K nR 7'
9P PRT TR RNIN2T RANDAT MR 272 1171 "7 5" 5oy "0 BB wa notd 1Y
7772 ' TIBR 1D 1A 2302 NS 1HY PR BaR 11277 ' 930D RT2Y BB wa Nt
DNTMAR 12 PRT ITIR 327 19BR D95 NoTD 1HY PRAT K192 D' 2Ry YA 12 v
T9IDR IR RNN2T RANDY 1D AR 2IPR2 NOTD POY PR KROUNX 3WD KDY oNY
"7 5799 3327 93998 NP2 DR 3377 K2R H''9Y 9" 93998 737 0K an 92b A''ea
"D 73292 RAPIRY 92T 23 DY AR 1D DD 10 PRT RN PORT RTIR"R IR BB
71292 IBR RAPIRD RDIDT 25w ''9 915 779299KRY D 919 2707 7INRSD KDY R
MIOR NMDDINT NIND WS N RI927 MRTD D95 2 NI PHY IR 1127 17N RIT
9377 "D 2PN MW NS PR RO aRY TR 27 IR RUN TINST 0 020 newp

1P'17Y K929 D' 19BN 11290 2''702 RAPIND

1) First nnipn
a) 'R Rp™M32
1) "7 says that
(1) oxy n7Paw own 12 Wo 79798 MIRIT 92
(2) o¥y n7P2w DWN 12 PR 727IRD MR R

il) 7127 are 7°nma relative to 27 and in certain cases hold there is an Mok of
a¥y nvaw where °21 holds there’s no Mok of oxy 2w

2) Second TP
a) It’s more 7anon that an 1ax counts as 727987 MIR7 1K
i) in a case where the 2ax has no “wa n°ro at all

i) than in a case where the 72x although it has no n1i7 @1p»a wa n°ra does have a
IMR 01PR2 W1 N1

3) Third fn7pi
a) nvw of *wx 2
i) °27in 'R X092 says axy naw own 12 PR only where 593 013 12 PR
ii) 1121 disagree and say oxy naw own 12 w° even where 593 n°12 12 PR
iii) Both »27 and 1127 agree that axy nvaw own 12 w° where anx 23pna N1 1w
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MR 2P DT 1OV W T 1YY PR

=i 1127 27 1127

QXY NPAw 12 W | oXY NYaw 1w NAWw 12 PR | QXY NYvaw 1w 390 WK 299
axy N1 XOMHT2
RN™727 XHNOT
X712 RpP>7 0270

4) Fourth mn7pn
a) nvw of X120

i) °27in 'K Xn*92 says o¥y nYvaw own 12 R both where %5 n°ra 12 X and even
where nR 212 n°1o Py W

ii) 7327 agree with *27 where %53 n°1> %y 1R but disagree and say 0w 12 v
QXY n°aw where nx 01pna Nt 1Oy W

ANR PR DT YRV W T 1Y PR 'R X220
paly 7127 ey 7120
0¥y NP2W 2 W | 0¥V NYvaw W NPaW 2 PR | OXY 17w 12w 099 WX 117
oy T K972

XN°>727 RANOT
X772 KpPY7 279 'R

nTvaw 12 PR nTvaw 12w nTvaw 12 PR nvaw 13 PR 3vh2 K139
oxy oxy oxy oxy aypna nsa
NMNOT NN

°27% 'R NnMa7
N2 AR N

5) —Twnn of the X
a) MR DWPP2 NPT YHY WY AT DIPR2 DT 12 PR
) Jam"
(1) oxy n7oaw own 1 we
b) wpL v
i) 0¥y naw own 12 PR
6) mooin at nnek "7 as explained by X"wAin

a) 1m " and woph wo agree with *27 but disagree on whether »a1 follows the nvow of
"R 27 or the 7w w of X129

1) 737 " says "21 follows the nv w of *wx 11 that there’s a oxy nvaw 17 for w»
TR DIPR2 W1A N1 Y

i) wph w says °a1 follows the nvw of X221 that there’s no axy nvaw 7 for w»
TMR DIPR2 WA N1 HY
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7) R"wann
a) PN

i) Note that X121 is 7pn relative to *wx 21 since X1°27 says 1321 hold for oy Py
593 n°1o that oxy nvaw own 12 PR while *wx 27 says 1327 hold own 12 w»
ox¥y nvaw

b) aoxw

i) Maybe x121 holds that 1327 are % also for anx ypna n°1> Yoy wo and say PR
DXy N7°2Ww DWwn 12 as in "2 RYav

ii) In which case maoiwn could have said that jam ' and w°p> w1 agree with 1320
but disagree on whether 1121 follow the v w of *wx 21 in 'a 852w or the qvw of
X127 in 2 RY20

AR 2P DT IV W N1 1OV PR '2 XYY

paly 7127 2 7127
0%y 172w 2 W0 | O¥Y NYvaw 1w NYPAw 1A PR | %Y 17w 12 WY 190 MWK 219
oxy T X972

XN»727 RANDT
X772 RpP°7 0270

nP2w 1 PR 12 PR 2R NP2W 12 PR nP2w 12 PR N2
oxy axy nPaw oxy oxy

C) mawn
i) 'a X720 can’t be correct
ii) Because if so for 81727 there’d be no npY?na between *27 and 1321 altogether
8) 'axn»na
a) "21awn xS ¥
1) w2 DT YOy PRY QXY TR W2 N1 1OV WO OXY TN
9) Twnn of the X
a) Nwp by 1m " to woph v
i) What does the xn>>12 mean by "wa n°1o oy prw"”
i) If it means there’s no w1 altogether then of course there’s no oxy nN"aw 17
b) xipon of 1M ™

1) Must be that the xn»92 means there’s no "w2 n°12 at 772w opn but there is a
Twa n°rd at R opn

ii) and since the xn>12 says oxy nNaw own 12 v this is a Rowp to wph v
10) qwni1 of msoin
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a) NTO2W DIWN 12 WO ORAR 990 WA PHY PRT RDOOR 1AM M [AwWpnT 8 03] ponT k"
"... 13270 'RPPIRD WOPH w1 2¥nT A"YR 0¥y

b) meaning

i)  When 71m "7 asks woph w that '2 X092 can’t deal with 595 01 19 PR
because then xn%y °215 would agree that oxy naw own 12 PR

i) Why doesn’t wph w1 answer that the xn>>22a follows 112
11) R"wann
a) Nwp to the xowp of mooin

i) wpP% v couldn’t have given this y17°n becaue we’ve established that wop% w1
agrees with X127 who says for 1127 in both '® X%2v and 'a X%2v that own 12 PR
o¥y nvaw where 595 w2 oY PR

b) 10 to explain the x>wp of mpoin

1) moown asks its Xwp to the Ripon of j1m " that the kn»92 must deal with w»
Inx 2pPn2 0o 1YY and teaches that in this case axy nvaw own 12w

i) And mooIn points out that w°p w1 could have answered that the xn>>12
follows the v w of x1°27 for 1121 in 'R X%2w and that »27 disagrees

ANR PR DT YRV W T 1Y PR 'R X920
paly 7127 ey 7120
OXY NP2W 2 W | 0¥V Nvaw W NPaW 2 PR | DXV 17w 12w 070 MR 279
oy T K972

XN727 RHNDT
X772 RpP°7 0270

n7"aw 12 PR novaw A v N7%2W 12 PR N7°aw 12 PR 190 R1MaTw
oxy azy oxy oxy | NN 23Pna noToa

XN»727 XANDT

X772 OX °27
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1) X7 here
a) X1nKR M7 on the nww of 1 " as explained by *"w- and R"wann
i) Mm% under the 77ty weren’t wpn1 even if they opened to the 77y
b) xipon on the nww of 1 ™

i) Mm% weren’t wpn if they opened to the n°ai7 7 but were wpna if they
opened to the 1y

2) X3 at 1o A7 in 02127 19K P
a) "M
i) WIPNIR? MPnn

il) N N yan nonwn P Sy — 1y is nonwn outside the 791y and outside the
nan an

3) X"wnn explains that the 7% of >"wA here is different from the %% of >"wa in P19
0°727 17X

a) °"wn here

i) "wn here follows the X107 on the v w of jam ' —jany " refers to M na that
open to n»a71 177 and says that only these Mm% i weren’t w7pn:

ii) and for this v w the two manmo» of 1am1° " can be connected and aren’t 9"
"9 because 1 ' says

(1) Although »p %va is nonwn from the 771y and n°ai

(2) the Mm% that open to n°an 971 weren’t w7pn1 and a »p %v2a can enter them
directly if the opening is where the n°a77 717 borders on the edge of a%uw
so that the »p va can enter without passing through n>an a5

(3) And once he’s entered the m>°nn he can pass in them under the 791y as
well as the n°a77 71

b) >"w9in 027 1%% P9

i) °"wain a7 9x P follows the k1nk mim on the avw of jam» ' — jam» ' refers
to m>>nn that open to the 7371y and even these n>°nn weren’t WIpn

i) if for this 7w the two mnn are connected they would teach that
(1) Although »p %va is nonwn even from nvan 271 and the 7y
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(2) the Mm% that open to the 771y weren’t w7pn1 and a »p Hva can enter them

iii) But this 7277 is impossible because to enter the nY?°ma that open to the 71w a
P S¥2 would have to pass through n°ai7 97 first which he can’t do because
he’s monwn from n*an a0

iv) So it must be that the two mnm°» are *2°» *9» and aren’t intended to teach that
P Yva can enter m>°nn that open to the 771y and weren’t w7pn1
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1) xn»n

a) 7wnw " as explained by "wA
i) Partl

(1) the a%°ox n%°nn 9>y of a noo 127 needs to be in one 711an but a person can
move from one 7712 to another

i) Part?2

(1) persons who were sitting in one 7Man can’t continue their 770 if they are
later separated by a nx°rn into two mman

2) X"wamn
a) Nwp on part 2

i) How does part 2 fit with part 1 that says that all that’s necessary is to begin as
one 7Man

b) v

i) mwnw " says only that it’s ann for an individual to move to another opn after
the 712 begins its 77wo

i) He doesn’t mean that a 7712n can split into two m=1an after it began as one
7an
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1) 'R Xn™?
a) amm M
i) noo727p can be eaten in two mMan
ii) but an individual person can eat the 3299 in only one op»
2) 'axn™Maat.o a7
a) TwYn R X O INAA2 AN 10D WA ROXIN
3) ""wn
a) 'axn»1a deals with two mman that each brought their own o9 1299

b) It applies also for 777> " because 777 ' permits one nod 1277 to be shared by
two mman but is 70X a 77121 to be w2 &*xwa from its oo 329 to a 72n that
brought a separate ros 127p

4) moon

a) The xn»1a deals with one noo 1297 that is shared by two mm1an but is still
consistent with 377> "1 for a reason not relevant here

5) X"wann
a) Nwp

i) why not explain that the xn>12 teaches that an individual who already ate at
one ;1M2an is Mox afterwards to also eat at a second 71217 even if he takes
along and eats w2 from the first 71an

i) and this is consistent with 7737 'Y who says an individual can’t eat in two
mmpn

b) v n

i) because if so p2 &xn>>12 would have referred to 77°ox of a noo 1299 in two
mmpn and not to k¥ from one 7an to another
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